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Problem quickname: 8601

1)

Fill in the missing numbers.

a) 372 − = 322 b) 486 − = 416 c) 381 − = 311
d) 822 − = 802 e) 636 − = 616 f) 990 − = 910
g) 680 − = 600 h) 899 − = 879 i) 813 − = 803
j) 694 − = 604
2)

Fill in the missing numbers.

a) 6818 − = 6418 b) 2733 − = 2033 c) 8961 − = 8261
d) 3523 − = 3123 e) 8524 − = 8124 f) 8610 − = 8210
g) 5878 − = 5178 h) 6656 − = 6256 i) 7970 − = 7470
j) 3387 − = 3187

3)

Fill in the missing numbers.

a) 8266 − = 8262 b) 2705 − = 2700 c) 2885 − = 2884
d) 3768 − = 3760 e) 5667 − = 5665 f) 5766 − = 5760
g) 4364 − = 4363 h) 8889 − = 8882 i) 4788 − = 4780
j) 8636 − = 8631

4)

Fill in the missing numbers.

a) 7488 − = 7418 b) 6895 − = 6805 c) 5770 − = 5720
d) 5593 − = 5523 e) 6135 − = 6115 f) 4691 − = 4631
g) 1895 − = 1815 h) 3791 − = 3701 i) 3832 − = 3822
j) 3392 − = 3322

Good Luck!

www.dw-math.com Page 1 smp-8601-1/OAUY


